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There it is money; here it is a prohibition — RTITOR K277 R1man 2N7

OVERVIEW

7M1 27 maintains that the 7397 is like *27 by %1121 19182 [and 1"192 ROW 77 Y025 719
(both are cases of M10°X)], and we do not say 179> 72 113 7. Similarly regarding 01w
nmnw nmow 0177 (which is 1an [but 7"2 made a mistake]) the rule is 502 3797
(like the a°non) and we do not say 719° 7"2 112 An. It is only regarding X2 2N
21 71712 (which is 11 where 72 did not make a mistake) that 1"1 maintains 7°X
mnnb 1915° because of 11> 72 12 on. The X3 explains the distinction (of 1"9)
between "121 2'mn° (where we do say 719> 72 113) and v3 (where we do not say 113
19> 7"2), is because we only say 719° 7"2 113 7 by 1an (where 72 was Wv XY).

nooIn asks:
—ryh 5954 9951 19 ON ANN ON)

And if you will say; if indeed there is a difference between X171 and x110°K,> how
did 70 21 previously infer -

— (P 1) “INAINDT NONNA INIIMN 12 PIYNAY 1295 AU 39 IHY A
From that episode in m2i1n> noon, where 539 retracted and ruled like 2''2w9

(how was 701 21 able to infer from this) -
— %5192 19192 9N INPN 213 12 N7

That >3 also retracted from that which he ruled that »uvan Ysuea -
— “N3INY *NIMOIN 192 PYNY NION NN

Since we can differentiate between X" and X1y%?!

N1B0IN answers:
— NDNY NNDIN 172 199197 XD 115HYWA 5395 7997 9ANT 1N 297 9129 U

And one can say; that 1", who maintains that the 17257 is like 527 regarding

! (121 73R °TM3 7O 27 MR) 2,3°.
2 We are willing to empower 7"2 by monetary issues since 997 7"2 P57 (see ani1 "7 *"wn); however regarding
prohibition (like 7°v° and N1"7Y) we are reluctant to empower 72 (beyond the legal limit).
? The 7321 rule there that if the 72 erred in their assessment of property by a sixth (or more), the sale is voided.
Initially °27 agreed with the 7127, but later retracted and agreed with 3"2w" that 0*°p 7797 since 719° 72 112 7%,
#31 maintains that if the husband was ban the va (even) not in the presence of the m%w or the nwR, the v is Pv1.
> The case of vx7 2112 is XMO°X (of WK NWK), we leave it as the Xn™ T ruling that the v is 02 and we do not say
79> 72 ma A oK.
% In the case of 7"2 nmw (which is X1mn), we empower 7"2 beyond the legal limit and sustain their assessment
(even though they erred by a mnw), since 79> 7"°2 12 71 3"X.
71" ruled (see 2,37 at the bottom) that the 7297 is like *27 that Y012 (11192 X9w) Y202 and also that (L7 *7v) Y022 91
a7 9192 ROW AT
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both disputes with 3"2w", only he differentiates® between 87°8 and “xavan.

mooIn responds to an anticipated difficulty:
— Py 8990 XY NNIDIN 123 19991 NY 22913 9297 23 by 9N

Even though that (°29) [3%m1 29] himself does not distinguish between X710°R

and 3% where they erred" -
— PO NN ITPAN 297 NN 1991 1IN 29 01PN Yan

Nevertheless, 1''9 distinguishes according to 529 between XM0°X and X117 even if

it is a X17» where 7'"°2 erred. We are forced to say this -
— %555 N3 29 7209 *xam ¥manaa 13 9tn 19993 %39 XN

For °29 himself retracted in n2yn> noon, and here 1''9 rules according to 5a9.

This is the view of 1" to differentiate between XM0°X and Wvw X1 mn according to "2 -
— Bysvanm 89 Yhrub ynan Yan

However these other 0°%71X mentioned previously do not distinguish (according
to °27) between XMOX and WHT R1NA.

mooIn responds to an anticipated question:
— )Ny 294X 19313 397 X9 7599 99

And when the X723 here presented the contradiction between one ruling of 1"

¥ Therefore even though »27 retracted by 22177 0w and did agree to 719° 7"°2 12 (since it is X17n), nevertheless 1"
maintains that the 73977 is like 27 by both cases of 710°X (7012 1702 and 1""192 XPW 771 Y037 913°), and that *21 did not
retract in these two cases (since it is XMOR).
° However noY 21 who inferred from 2°3>>77 212 to w2 does not differentiate between X111 RMOR.
19 The x"w 7 and the q">w 0" amend this to read 1am31 27 (and not *27), ">y, [The "W maintains the oA of
"27" and explains M50 to mean that (even though) we do not find that *27 distinguishes between X111 XMOX (so
would should assume that just as he retracted by X1n he also retracted X710°X2), nevertheless 1"7 maintains that we
will make this distinction between &110°X1 X171 (even) according to "27.]
" This refers to the case of 12 1202
12 This refers to the case of 502 17791 191 MNw NMOW D177 2w (which is WOT X1MN).
" In both these cases we do not say 79 7"2 n2 7»; indicating that Wow X1mm XMOX are equivalent (according to
1"7). How then can 1" rule like *21 regarding 71127 Y22 [(that we do not say 719 7"*2 13) when °21 retracted by 2w
o°1>77 (which is w7 X19n) and maintains there 0>p 1191 because 79 7" 113 71, since 1"1 equates RNO°K (VA7 2W02)
with Wwuw R1nn (which is 021077 oW).
' This is regarding the rule of MW NMow 2°°77 O (a case of WHw X1mn) where *27 ultimately maintains 12 77
79° 7"2 and a»p 170%.
5 In the case of Y127 1202 (which is XM0°X) "1 (according to 1) does not agree to 79 7"°2 112.
'® perforce we must say according to 1" that »27 distinguishes between XMo°X and WwuT X3m; even though 1"
personally does not distinguish between XMo°X and 1wv7 X111 but rather maintains that in both these instances we do
not say 119> 7"2 n2. We say 19 7"2 115 only by wu 827 x11an (like nnn? 12157 PR 191 P27 2w 2°nnd).
17 This refers to A0Y 27 (and XWX 127 WX "M [see n'"n1]) mentioned on 2,37.
'8 101 29 maintains that since 27 agreed to 715> 7"2 m2 7 regarding WuT X1mn (the case of 2°1°771 OW), it follows that
he agrees by XM0°x as well (1192 X%Ww 171°3) that it is not Pv3 for 79> 72 113 713 3"X.
' On one hand 1" rules that 0121 12072 (no 75° 7"*3 113) on the other hand he rules nAnY 1913° Px (for 79° 72 12).
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and another ruling of 19, the X3 -
— Pmya1ma1 NoNN N9MTI H1VIAM 19V 13 91N N99IN %29 KDY mypng 515 NN

Could have asked instead, how can 1" maintain that the 7397 is *275 regarding
%1121 Y703, since "2 himself retracted from his original ruling of wian 2w as is
evident from that which we learnt in >'m2wns noon —

mooIn responds; the reason the X713 did not ask from °27 is because the X n3 -
— 11999 19N 3TN 1INI 297 VPN NYD NNNT NON

Would rather contradict one ruling of 1" on another ruling of the same 1'"-.

In summation: According to this explanation, 1"7 maintains that only by 1wv X?7 X117 (such as
P21 Waw 2omn°) do we say 119 7" 110 1n; however 1™ will agree that °27 differentiates between
XMO°X (where there is no 719> 7"2 112) and (all) X171 (even Wuw X11mn) where we do say 7212 n
19°. While 701 27 disagrees and maintains that *27 does not distinguish between (any case of)
X1 and RMO°KX; we always maintain 79° 72 112 5.

mooin offers a different answer to explain why by 1" we differentiate between X710°X) X111 and
previously 7101 27 did not differentiate between X710°X1 RI1n:
— P90 N9 NINNY NNOIN 192 DN XINT 925 YO N

And in addition one can say; that here (regarding 1), the X3 differentiates

between XM0°R and WY RDT X1 (191 oA KW 2°mnY) -
— PN99DIRY 10T N30 AT DrvY San

However previously, 101’ 17 compares 1B X127 (2°1777 0W) to XM,

mooIn supports his view that there is a difference by X111 whether it was 190 or not:
— (%, 97 NININ P92 MIINIIY (x,31 97 PYITPT /2 P992)
And in the second 22 of 727R No0» and in M2IN2 NOON in 73RPR PRD, the K03 -
— *s139na navn onn P2097 1201 29N 7299

20 At this point we are not aware of the distinction between XxMo% and x1mn (for otherwise there would be no
contradiction between the two rulings of 1"7 [as our &3 subsequently answers]), Therefore we can ask, since *17 in
main> agreed that 0»p 1191 for 79° 7" 119, therefore presumably he always agrees that Sv12n 1°X 190°2 for the same
reason of 719> 7" 3. See ‘Thinking it over’ # 2.
! The advantage of asking this question (as opposed to asking from "1 P1on> Waw omn°) is that this is the issue at
hand which we are discussing. 7oy 27 just proved that 7012 X 1782 since °27 retracted (regarding 79° 7"°2 112) as
evidenced in the X3 in M21N5. How can 1" maintain 373 773977 since °27 retracted and maintains 79° 7">2 3.
2 There is sufficient reason to distinguish between X110°x where we do not want to ‘bend’ the 77 ruling, to X3
where we can modify the 7710 ruling (especially) since the 7"°2 was not 7¥10.
* When 7" is 790 there is no strong reason to say 79> 7"°2 13 (since they erred), and if nevertheless we do say 12
79> 7" (by 2°mIn1 0W), then the same should apply by XMo°R (regarding 1192 X5w 70°2).
?* The o'non rule that Y3 19517 121 MDY INRow 2217 W (no 19° 72 12).
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Challenges 1'"1 who ruled there that the 172957 is like the 29%2m; the X3 questioned
this -
— 1199 17 %2 N N1 1IN 29D NPY NINT PIYNY INAY DIMINT XINNIN

From the case of py»r® Raw 210 where 1''1 does maintain 719° 7' o 1% -
— PV NYT NN IWOT NN UM

And the X723 answers; here (by 2mn°1 21w, we do not say 719 7" 112 since) 72

erred; here (by P%n% Waw 20, we say 19° 7"2 1D since) 7" did not err -
— 91931 150221 D) 12 TN MAINIT XXM 12 MRNY INT 299

So 531 when he retracted by the case in M31n> (and maintained 2°°p 1701 since »

79> 7"1 113, he equally retracted also from »©12% Y9¥°2 and 21 maintains X 72
P01 —

mooIn responds to the anticipated question:

109N MANT NPNNA POID 1INT DIVN H112M 171022 Y295 1IN) 29 PPOT XM
And that which 1"1 ruled like °21 regarding ®wa» Y9w2 (since °27 himself
retracted and maintains 90127 11X 17v°2), this is because 1''1 rules in the case of

n12303 Non (20177 o) like the 29251 that B3 3957 and we do not say 79> 72 113 (by
Wow 1mn) and therefore we also do not say 179 72 113 by XM (like Y1127 1702).

In summation: According to the second explanation 1"7 and 7o1° 27 (can) agree that there is a
similarity between XMO°X and Wwow ¥11mn and if we say 79° 72 113 by Wwuw X1mn (the retracted
view of "27) we will also say 719> 7"°2 113 by RO X.

SUMMARY

mooIn offers two explanations to reconcile the X723 (the view of 1"7), which
differentiates between XMDXY X111, and the X (the view of 70 27), which
compares them. Either "1 1"7 argue (regarding °27), or all agree that XM0°X and
WH XOW RN are different; however Wow X111 XNOXR are similar.

THINKING IT OVER
1. When 1" stated (2°nw32) *275 719%:7; what did he mean?°

2. Is mooIn question (why did not the 8»3 ask on 1"1 from the retraction of *17),”
applicable also according to the second answer of m»oIn?

» We are now assuming (in the second answer - the T¥") that we only differentiate between XM10°X and Wb X7 X1n,
but not between X710°X and WvT R11n), even according to 1.
%0 See n"m1 and "7y in 7"nx # 121.
*7 See footnote # 20.
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